How many types of genotypes are formed in F2 generation of monohybrid cross?

weheTEet WO Sht F2 it 5 feraat srehm 36 Sty fififa 2 29

AT 3 B) 2

(C 9 (D) 4
(E) Question not attempted / aﬂﬂﬂ‘d sy

Which coal contains the highest amount of carbon?
(A) Bituminous

(C) Lignite

(B) Anthracite

(D) Peat
(E)  Question not attempted
form et o aaftreraw wram el aran st ¥2
(A) fofrm By e
(C) fermmge (D)
(E) IaREww
Select the plants found in the subtropical mountain forest in Rajasthan :
(A) Mango, Neem (B) Dhokra, Palash
(C) Khejri, Ber (D) Ker, Thor, Foag

(E) Question not attempted
mﬁmsmmﬁd?ﬂﬂfﬂﬁa#ﬁmqﬁ aTel el a1 9a et

(A) 3, | By T, T
(C) W&, AT C (D) ¥ wm
(E) Sigui@wd

Bamboo forest is found in which of the follcwi_ﬁg districts of Rajasthan?
Choose the most appropriate option from below: '

(A) Churu (B) Jaisalmer
(C) Banswara : (D) Bikaner

(E) Question not attempted

978 & ST (Bamboo fmst)mﬂ%ﬁnﬁmﬁﬁmﬁ%ﬁwmh

o # § T Ivg e

(A) T . (B) gt
AE€T  aEETs . (D)

(E) A 94

Chuliya waterfall is located in which of the following regions of Rajasthan?

Choose the most appropriate option from below: ) .
(A) South eastern plateau region (B) Western desert plain region
(C) Eastern plain region (D) Aravali region

(E) Question not attempted

feran srerara werear & Freferfaa i @ far g i srafera &

et & & vl I fasea )

(A) =For o aerd & (B) et et e &
ey i et & (D) el &

(E) Aaf@ 9

I p.T.0:
Q13 ? 2



What percentage of the total land mass area of India is in Rajasthan?

Choose the meost appropriate option from below:
oA F T mmﬁmnﬁmﬁ NI U= 0 20

i d w mﬁmvﬁ
A 10.4% 3\ (B) 12.4%
© 173% 0 (D) 13.3%

16691

(E) Question not atternpted / At o

Rosewood, Mahogonyand Ebony species of trees are found in which type of the followingThrest areas?

Choose the most appmpnnte option from below: ™
(&) “onme - (B) Littoral and Swamp i
(€). “Tigpes e . (D) Tropical Thom
(E) Question not anempted 3
mmﬁaﬂt@fmﬁ%ﬁgﬁqﬁﬁaﬁqﬁWWMﬂmaﬁ# ;
ﬁﬁmam mﬁa—ﬂ = o
i 0 (B) g 3k aeveett 0
(C) IoTReAty FREER (D) IR FEN o
AT 95
® 3 5 .
i o
Data are transferred between different components of a computer system using physical wires called :
(A) Bus (B) WAN
© cpu . . (D) Flowchart —
e )
(E) Qucsuun not attempted s
mmmghm%ﬁﬁmwzﬁ%m%maﬁm FTET S TR R A A e A
( = ~ (B) o 1
(C) 'Ff].'tﬁ{ o (D) o
(a3 ™
() wqEf@ys 4
In Microsoft word, which of the following provides information about the current document?
(A) Status bar il (B) View buttons -
(C) Standard Toolbar, (D) Tabstop b
(E) Question not attémpted g
Waﬁﬂ‘ﬁq%%ﬁ ﬁﬁaﬁhaﬁmﬁa%a&ﬁmﬂﬂmm%’ i
(A) =zgan ABT SN P,
~er_Sgiggm (7 (p) el ™
€) smerawd .
1) Which of the following is NOT a function of MS Excel?
(A) MAX( . .(B) Subtract () ;
o D) MINQ
(E) Question not attgmpted s
Frsfafaa if & 99 TE 1 AT T8 i
(A) wumEo 2 (B) WWWR() g
© ==o Py T () G
(E) Igaf@sd
Lagt < : [ P T.O,
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T s e LU G DC ODUINICU TR0 IS DV ITIE 8 Rin s sy s sas e
metheds in diboiiiory, This is caiied |

(A)  Vilal Foree Theory (3)  Theory of Hydrocarbons
(C)  Freons Theory (D) Wohler Theory

(E)  Question not attempted

el 2fivee ) feren sftfarer oftat & ot serw foven o arewen & st gy weimarren i faw fafirt g w3
fewiar s v B 2 e .-

/(’f}ﬂ N - nfes forartn (3)  wrggEn fagi

(C) P fasie (D) aten fagta
(B)  argwfer v g ——?lﬁ-—a acdg

'{7\ R
12 Match List-I with List-11 -
List-1 (Forest Area) A(RVQ\ List-IT (Place)
a, Sariskn I. Alwar
b. Darrah II. Kota
c. Mount Abu III.  Karauli
d . Kaludei IV.  Sirohi
h -1 g @ gafem A
et -1 (o= ) Tl -11 o)
a, afteE — —1. ¥t U a,
b. s . e {2~ )
o nmzm{\.>_r’,,————m. Freft /
d. emzh v, A
Choose the most appropriate answer from the option given below:
i3 R o Feraredt & @ wafires swges 3w g
AT a-1Lb-1l,c-1V,d- I ®) a-1,b-1c-1V,d-II
(€) a-ilb-lllc-1,d-1V (D) a-1V,b-Tlc-1,d-1I
(E)  Question not attempted / Al ¥4
o
13 Ametalis in the form cubic crystal lattice, Lattice constant of unit cell is 2.88 A and density of metal is 7.20
gm/cm?, What is the number of unit cells for 100 gm metal?
-
8]
U AT 5 ot At e & o 8) e ik T iR 2,88 A R I a6 e 7.20 g/’
#1100 7 Ty & v wifemrat v war 87
(A) 2x10% (B) 3x10%
(C) 6x10% 5 x 1028
(E)  Question not attempted / HTafa ug
14 Frafeftn arwit & sz arm 3.
b (B) ot e e
‘ aw =R & mm
(E) rafwwa i
Q313 4 [ PT.0-
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17

18

19

20

Choose the most appropriate English translation of the given sentence

Il OHTH &
(A) Heis insu.ltcd by ‘r_]m::f? (B)  Has he been insulted?

Who |':|1'l$ ll‘isiurl:tfgn:;:;d (DY What has he been insulted h}"?
IE} Quﬁ'S[lﬂIl not i

Choose the most appropriate reported form of the given sentence:

“po you realize that the shoes you are wearing aren’t a ppir?”, I asked.

(Ay- 1asked him if he rcnﬁzc?ﬁl his shoes were not a pair,

(B) 1 asked him if he realized that the shoes he was wearing weren't a pair,
) 1 asked that was he aware that his shoes aren’t a pair?

(D) Ttold him that his shoes aren’t a pair.

(E) Question not attempted

Choose the most appropriate option to fill in the blank:

“1s dad in?”

“No, he isn't. He home an hour ago. He yet.”
(A) Leaves, didn’t return (B)  Will have, has not returned
(C) Leave, not returned (D) Left, has not returned

(E) Question not attempted
Which of the following mountain peaks is situated in India?

(A) Mt Annapuma (B) Mt Kamet
(C) Mt Everest (D) Mt Dhaulagiri
(E) Question not attempted
H & 1 |7 gda ey aia | fa @2
(A) W3 S (B) TP FH
oy W LCre=s (D) w32 A
(E) A 9%
Tors, block mountains, rift Valleys, bare rocky structures are physiographic features of which of the following
regions of India?

(-Ei-) Northern plains of India

(A) The Peninsular Plateau of India
(D) The Island groups in India

(C) The Indian desert

(E) Question not attempted -
fmﬁmqﬁmﬂmﬁﬁ,mﬁﬁﬂﬁmﬁm%ﬁﬁnﬁiﬁﬂﬁﬁﬁm grr o1 yarTeRfa fareand &2

KT T T TR 3T (B) ﬁ ﬁzgﬂﬂaﬁ
(C) wndlg weeds (D) LG
(E) refa s " L ‘,2( .\—(‘
Who among the following is not appointed by the Governer of Rajasthan? W) \ (A -

Choose the most appropriate option from below:
(A) Vice Chancellor of State Universities
(B) Chief Justice of High Court.

(C) State Election Commissioner o
(D) Chairman of the State Public Service Commission

(E) Question not attempted
ﬁmﬁzﬁaﬂﬁﬂ%&w%wmﬁgﬁqﬁiﬁmmﬂ?

fFreafafaa & & wad fererea A1
(A) mﬁgfﬁma?:gﬁgwrﬁr

B e AT % e A

Q13| F

&£ T Fatas JgE
(D) = T AT ST o SToAE

(E) Irfafta w4
S [ P.T.O.




21 Under Article 323 of the Constitution of India, the State Public Service Commission has a duty to present ap

annual report as 1o the work done by the commission, to whom?
(A)  Vidhan Sabha (B)  President
(C)  ChiefMinister

(D im'cmnrm
(E) Queggn not attempted O
ikiglnud %Naﬂtm%m.mﬁﬁmﬁmmnmmﬁﬁgmwmmfmm&w&%aﬁ
° Eﬁéﬁmﬁa F

i

S R By wgufs O
(C) T=nif (D) T ()
(E)  qafd uy o

22 The body working at the highest Jevel of Rajasthan administration system is :
Choose 'hf.,l}““ Appropriate option from below: o
(A) Govemor's office (B)  Chief Mififster's office
(€)  Minisrs (D)  Governmeth Secretariat
(E)  Questidn not attempted \©
T STt (o) 3 sew v gt i 2 - S
Frfafas A T 39T faeen 3 - ™M
(A) TSge Fate (B) HerwHt wrdferg
(C) =&t ABT  wET afaares
(E) gl wx -

23 Who was L[";-Fhief Secretary of Rajasthan as on 5th September 20247)
(A)  Subhash Chand (B)  SudhanshPant
(C)  Satish®umar (D) Jagdish h:_’l%na
(E) Ques@n not attempted (&
TSI F ey W9 (05 e 2024 2 337 &9 ™
(A) T _By” g
(C) wFmFR (D)  reter wton
(E) a?gar‘fl_'aw -

24 Aman take$)S days more than Bhanu to do a certain job and 9 dagdmore than Pankaj. Aman and Bhanu
together cafMdo the Job in the same time as Pankaj. How many days" 1an alone would take to do it?
ST 0 A9 0 5 T8 5 et v i 0 P sefr o e 2 S T firetot 3@ et 2 e 1 G
3 T 81 T 0 ok s P ot e S
(A) 20y, (B) 25 L
© s o, : o7 15 v
(E)  Question not attempted / Saf@a wg

5 Ajay investetl a total sum of 7 7,100 in three different schemes ofﬁﬂnple interest at 3%, 5% and 7% per

annum. Affie end of one year, he got same interest in all three s@mes. What is the amount of money
invested at 57%?

: - 0
7 3 39, e:ﬂrm}rﬁ!atfﬁatammmaﬁrmam.mpmmnﬁﬁgﬁ: 7,100 1 forare o
UF 3 F, SA T A A wary fire 5% T faran i d Erafiy

72,000 ° A T 1,500 )

/M 23,500, @ (D) 22,500 ™
(E)  Question not attempted / Sl g

Q131 . '8 Ligs
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27

28

29

30

31

The value of 1028
286 + 51271 25% =7

(A) 4180 (B) 5,900
(©) 4700 (D) 4,910
(E) Question not attempted / AR ¥
person with blood group can accept blood from all, while person fi
Jonate blood to all. person from ____ blood group can
(A) AB+ O- respcct:.vc]y (B) AB+ : O+ ——
(©) O+ AB+  respectively (D) O- , S s el
(E) Question not attempted _
s af aren st @t A W WET I AFA R, Saln _ wfwant aren sfE o @ w2
—
‘ O- /ﬂﬁ THI: AB+ : O+

(A) PR AB+ |

(E) axgaﬁﬂsrar |
A dealer offers lhree successive discounts of‘ 50%. 10%, 20% on an article. What is the single effective
discount rate?

o e et T W AR 50%, 10% aﬁtzn%ﬁaﬁwgﬁm%lmm@aﬁmﬁm

(A) 69% By 72%

(C) 60% (D) 64%

(E) Question not attempted / ST 94

What is the equation of the hyperbola, the length of whose latus rectum ns 8 and eccentricity is T

mmﬁmmmm%ﬁﬁ:mﬁmﬁm@ 8 TUT Seehezl ;;r- &
r 2 2
L Y f__L 1
*) 16 25 El B) 25 16 .
-‘-’2 .1'2 x* y2
LS i i,
© xn D 7%
(E) Question not attempted / SR 9
After the death of Rana Ratan Singh who became the ruler of Mewar? .
(A) Rana Vikramaditya (B) Rana Amar S.Ing'h
(D) Maharana Raj Singh

(C) Maharana Pratap
(E) Question not attempted
TS T ITEE B a7

o T fie i g 6 AT, _
AAT trmﬁam?gm (B) T I fEE

(C) WERIOT Wrd (D) wErn T e

(E) 3rufta 94

i i i istri iated with?

Ki;lth ::n :i:rm is Mangilal Mistri associa i ik

(C) Shahnai (D) Kavad

(E) Question not attempted g

{“Ai’)"mgﬁﬁﬁtaﬂ ey fara el oy e

(C) wreATE A2

(E) argafa wd
’ [P.T.O

Q13|?



3 Inthe fing stage of formation of preseat state of Rajasthan Cabinet of matsya union was formad under the
Radernship of ""'l ™
(A)  Shn “YB‘ Singh (B)  Shri Mange Ram O
() Shri Shdha Ram (DY Shri Alwar Singh ‘-D
() Questiverhot attempad
B < “#m#mmﬁmmmm&ﬁﬁﬁﬁmmT‘
(A) Ny '.3;5 By WEAaw ™M
4617 WehaTw D) WMaEwmiE O
(E)  FoRaww
33 Kavinis motRiindaw of Seema who is sisterin-law of Ashok. Ajay is fathegaf Vinod and only broth 7 of
Aok, :m% wife of Ajay How is Kavita related to Ashok? o
(A Mothenp-law B Wife E
(CY  Mother— (DY Sister H
(E)  Questicabot attempied
e S Bt SO R i ww, iR ¥ R H"Rﬁﬁ?a-‘{iaﬁ i B F S A
FSaTSTIE S TER i 87 H.a’-ﬂ—m -ﬂﬂ‘ '“"
(A) W (B) W=t v o 8% i ]
ger =t ol (D) =& 3-_;%‘(5 = P :ﬂ
(E) i ’5\{ fi’\ﬁ* "}s.-@_.
I :\'mh-E:Slg\‘ﬂm West, South-East becomes North and so on. What wilhBhst tnvmf 'E-.—-'
(A)  North (B) South o
(C)  Norh-Wx (DY South-Eaxt g
(E)  Questiéfihot anemprad
o I OB = w2 qﬁmmm%aﬂt;ﬁmwmaﬁﬁ@mﬂm*
(A) I B) =&
- I -{ET (D) Em-g@
(E) ﬂﬁﬁm ;
35 Acubnsmkgdmm all faces. It is cut mmﬁ-tsm;ilcrmbcsni‘eqm]éﬂ How many cubes are thers
which have aaly one face colourad out?
T 5T (79) St e § v o e Rar S @ i a 1@ wEE e H%@éﬁﬁ@ﬁmmﬁ
% e o () & et e @ T R ™M
KT 24 (B) 26 —~
(C) 20 (D) 22
(E) thstignal attempted / FTANA TH ~
36 The hr:nch oF&tience which is related to the improvement of human race anq% based on Mendel's Law &
(A) Mmubﬁog}- B) Genet O
(C)  Anthropglogy (D) Eugenics L,
l‘E} wm I.l‘!cmpud Q
Tﬁﬂmﬁmmﬁ R Haf & s & ﬁmw
(€) AR Wi ,,m'r l o2
(E) RITH
31T 8 | PTO-



arl 1‘“.m.w,rmu is crossed with any one parent, then it is cilled:
I3 ‘-

o L ‘ (B)  Dihybrid cross
() [Nt cToss v o -
(1 {‘Jllt‘.'il"llll'l nul “H“'Plﬂl

i et 3t S 20 S0 T St & e

(A) o HEAL] S il
() qllanrd WFT ) D Mo

() SruiaEE

V1 W h

apse the word Hill]i_l‘lr in meaning to the underlined word:

w th
It is exasperating toditen to the suggestions of my neighbour about international a
;'.ul.]lll.l'lg. . g
(A) boring -4 (B) frustrating
() disappointing® (D) amusing

(1) Question not g’l{:mplcd

19 Choose the word similar in meaning to- TENACIOUS

(A) resolute - (B) malign
(C)  timid h (D) modest
(F)  Question nul@lcmptcd '
.
40 Which of the followIbg is NOT an input device of computer?
™ (B) Monitor

(A) Joystick
(C) Trackball (D)
(E)  Question not attempted
ﬁnﬁ‘&aﬁﬁﬂaﬂquqﬁy&a@ﬁﬁ
(A) aRem - 9 (B) i
(€) e 3 . B) T

(E) orgfe wa S

Image scanner

2 . . _
41 Choose the most apgegpriate word to complete the given sentence:
tourists.

The City Centre Mall was crowded .
_(# from (B) with
(C) by ‘c-rlx . (D) of

(E)  Question not Qﬂcmptcd

B pries s ﬂpﬁp" e word to complete the given s;m;:ncc:
| : nlcohol.
A teetotaller is one Who abstains —_'_—_F_#?;) on
ASin '

(E) Question not attempted

a3 F

13016691

fgrs of which he knows

13016691 13016691 130166

13016691

[ P.T.O.
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46

47

Sclect the reptilian member found in Rajasthan :

(A)  Wild boar (B) Buzzard

(C) Indian Porcupine (D) Indian Chameleons
(E)  Question not attempted

T © qTY S AT §0gS 69 5 9T #1fE

(A) I R (T T (B) Fe=d
(C) wrdm && (Fe= vEida) Py~ v iz fems 5
(E) SIS |

Which of the following will undergo faster bio-degradation?

(A)  Mango pulp (B)  Mango wood
(C)  Mango seed (D) Mango peel
(E) Question not attempted

FeTET i SR S S i dad

A) sHFR (B) FmFia=st
(C) F=ss= AT IEEfes
{(E) W‘I&'
The scientist who classified the blood into different blood groups is-
(A) Karl Landsteiner (B) Edmund King
(©) Richard Lower (D) Jean-Baptiste
(E) Question not attempred
h&aﬁ%‘ﬁﬁﬁﬁﬁ:tﬁtmﬁﬁaﬁﬁﬁmmﬁai
}.-n’ T oe=T (B) wEE=fEFT
(C) F=EsEmw (D) SH-3I=
(E) Fqaraws
TSI F S -1 F ghfe
T -1 (A Uz T -11 (@)

i i L dgs

b. fnig . &=

c. ImEm M. R

d  gg&Em V. IdME
ﬁﬁqﬂﬁﬁﬁﬁmmmgﬁq;
(A) a-ILb-1ll,c-1v, 4. A8 a-IV,b-llLc-Ld-11
© a-Lb-IV,ec.m,q.q (D) a-NLb-Lec-IL,d-1V
(E) =qafaux
FE TR AU
el ®) s
AT T D) =
(E) Sqafaus

Qi3] ? 10

1 pT.0



48

49

A,
)
s coreath 7162 99T 87
i |
(E} Hﬂ:ﬂﬁﬁﬁ r—l :fl
rheshe dow Gﬁ}“_ pole; bccnnle,q}BU m longer when the altitude of the sun changes from ?f to 30°. Th
hclght of the I}ch is: ! i e
N@@45°ﬁ30°w“a@}?ﬁwzmﬁamaﬁﬁrwh% w i Famd 2,
4-:}[J3+1]"'Pﬁ) (B) 8“[*~'r3_+l]mu
i : () -
m(f mcft)  on Py 30(\3+1)mit) o)
{F'.l Question not altempledm L o)
: W o

A sum of money is to be distributed among P, Q, R, S in the ratio of 6:2:5:3. IfR gclsglﬂﬂ{l more than S,

50
then what is Q's share?
w SR P, Q, R, S%W{ES 3 %Wﬁmﬁm%}wﬁnaﬁsﬁnmoaﬁmﬁaﬁﬂqm
fere foperT 27
(A) 2,500 (B) 3,000
(€ 1,000 ol (D) Z2,000 -4
(E) Question not attempted'?ﬂﬁﬁﬂ' g _ g
51 Kamal had 200 toffees. He ghﬂ: 5% toffees to Ram, 15% toffees to Aman and one-fo 3th of the toffees to
Gopal. How many toffees nm@ with Kamal after the distribution?
el o qrd 200 Y ot 3T 5% ST T Y, 15% ST 0T Y I Fel Srhr Emmrﬁmaa%ﬁms%
T2 ¥ e Tt o Ty fhaet 2 @i (5S)
O
(A) 120 (B) 130
(C) 100 By 110 2
(E)  Question not anemptegﬂgﬂﬁ?r e _ 01-_-::/"”
' o
Lo ) § . o
52 What will come in place of thgguestion mark (?) in the following series? ‘KD% - 187!
ﬁrqi%fﬁ@a?mﬁﬁyaara&'ﬁ%{”ﬁm“ﬂw J L= SM
16, 33, 98, 197, 590, f‘x:"‘;_ 1 V> TEn
AKT 1181 O 325 (B) 1281 = 9%
Y L
(©) 981 e S B 1“111 - p Ll
(E)  Question not attempted / ST 9 S0 X2 - ..-—-L-—" - geTf [
= th th =1 9
53 Find the simple interest on zgﬁun at 6% per annum for the period ekl i
(A) 250.00 w0 by ¥ o . 193
(©) z37.50 E (5 S H ’"":gT
(E)  Question not attempte
4,000 9T G Wﬁﬂﬁﬂﬂlﬂﬁ%ﬁmﬁﬁmﬂ
4l 2000 F 133@?2{}0‘.:3**'3‘“&*%“ o Y
A) T5000 (D) 7550
(C©) 3750
(E) wigmi@m e
Q) 1 , im [PT.0.
? 2+ 24 6. I

=Y e i
o . S
= 0 g@

‘e
10



54 Ina certain code language, ‘life is good" is coded as ‘i ve su’, “enjoy life’ is coded as “fs ti” “character shoy)
be good” is coded as ‘nx, nu, bs su’. What is the code for ‘is” in the given code language?

et g Wi § “life is good” T i ve sy’ ‘enjoy life" @1 *fs ti* *character should be good® &1 *nx, nu, bsEj

\

T fi s &1 e € T T i it 3 foro o v B Ufe s oost-H,ve,
(A) su (B) nu ay (1 f - F'S"..;l
enyey & i
(C) BT ve l‘t;;qu‘.fh”‘” LﬂﬂJ-HR’
(E)  Question not attempted / 3?1?!‘&3‘ oy c J @

55 P,Q,R,S, T.K and M are sitting in a straight line all facing north direction, but not necessarily in the samy
order. There is only one person sitting between K and R. T sits between P and S. There are only two person
between T and M. K sits on the immediate left of P and P sits in the middle of the row. Which of the following
pairs of persons are sitting at the extreme ends?

P.Q.R.S, T. K SR M Wft 3 feam o e s ok et et 7 45 ¥ Sifser ot ot 2 B o Freft o 1 2
&M K T& R ¥ 707 a1 U i 43121 o S Haeg § T A1) T MM F AT ¥ oafr 338 pFam
Hardt siK ForR s p A F AT T dar Y ﬁﬁ%%ﬂﬁﬁaﬁqﬁﬁmﬁﬁﬁﬁ.—crmrﬁm%ﬁ?
(A) KM (B) T,M

T R.Q D) ST
(E) Question not attempted / Hﬂﬂftﬂﬂﬂ

56  Which of the following projects has brought a revolutionary chan ge in the tribal dominated areas of Rajasthan?
Choose the most appropriate option from below:
(A) Veer Sagar Dam Project (B) Mahi Bajaj Sagar Dam Project
(C) Bhakra Nangal Dam Project (D)  Jawahar Sagar Dam Project
(E) Question not attempted

Freaferfiaa i & e wfeetom & rorears 3 snferelt ager 2T 3 srfiremrty aRads s

ﬁ:{ﬁﬁwﬁmﬂmﬁmgﬁl

(A)  FTarR =g gfgeE ABY WTE SIS §R iy g
(C) &3 T &ty wiegromr (D) | SETE AR sy qiEiseT
A(E) Hafmayg .

57  Which of the following is the first Super Thermal Power Plant of Rajasthan?
Choose the most appropriate option from below:
(A)  Chhabra Thermg| Power Plant (B)
(C)  Suratgarh Thermal power Station (D)
(E) Question pgy altempted

Mahi Bajaj Sagar Hydro Power Plant
Jawahar Sagar Hydroelectric Power Station

v 3 & T 39, e
(A) m?ﬁwm (B) T} Srsirer /T IR E) WIR i
ACT TG O T (D) TR W vl S

(E) Fgufea T4
Q13] f{ ; - 12 [ P.T.O-
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o medium, (he equivalent weight of KMn(}4 .

In glkaln 4 enti 4 : 'lITI% .

g
A .’;5(26.33} (B) M (158.00)
|
© %‘sz'ﬁm 42 -?{31.&0)
) Question ot attempted / SRR 94
. e 3 T 1 T S e R0 5 e v
) T ®) ®
i), W (D) =
() FFARA A
&0 Frfefiaa i e T I AT 9 1R
A7 F T Y B) Ia R ggerermar &1
() e D) TEETER
(E) HARATH
61 The value of [log,go (Slog;p 100)]3 is:
[log;00 (Slog;o 100)]® %7 HF &:-
I 1
A 16 ®) T
l
© 3 _ D)
(E) Question not attempted / e 9
61 Ifsin23°= %, then sec 23° - sin 67° is equal to :
afg 230 = % T sec 23° - sin 67° AR :
aZ
a i
A Tl ®) -
a az
& AB) 2
© b2 —a? b +a

(E) Question not attempted / aratta ¥

each other is to be melted and 162 identical

whose radius and height are equal to
is the ratio of the radius of a ball to the

A solid metallic cyclinder
metal, so formed. What

solid balls are to be recasted from the liquid

;éi;:::ig:sd;::r ﬁuﬂﬁwqﬁéﬁ&ﬁﬁﬁa‘m‘“-ﬂﬂ“ﬁ“mmﬂqﬂ 162 THT 3N g
mmaﬁmﬁmu&ﬁﬁmﬁraﬂmwﬁ:ﬁl _8
(A) 1:6 - ;
1:5
(C) 1:4 ABY
(E) Question not attempted / FrgatE o4 s | e

QIS]%
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64 faum s gy wfu - = - =
(A) H A faem W
(C) |9 (D) fa+mm \0
[E] e —
65  srfig-sufia wer g w AT 3 e A & - (o
(A) o€ - Fr (B) i}: -ofemm (1)
e -y (D) -8 -
-(E) efa ws
66  Which gfthe following is the state flower of Rajasthan and is also a timber yiclding tree?
(A) Rohida (B) Shisham o))
(C) Khejn (D) Sunhemp L\g

(E)  QWéstion not attempted '
FrefafEd g s e reem F o g @ ﬁt@mmmmw,ﬁ@
(B) sfem et

© @) @ A
(E) Agaf@ s
67  In humans receptors for opioids are present in

(A) I‘iqspiramry tract —
(B) Bath CNS (Central Nervous System) and Gastro intestinal tract s)!

(C) QNS (Central Nervous System) - \O
(D) Gastro intestinal tract " s
i~

(E) Question not attempted

T i Sfeisee wam T diiz fafire SHifteitse ufat (fiewm Tasm &
(A) B9 (B) 14 difieT o7 U HatT vy 2T
seor g dfmran (D) WSUATY i

(E) 3Tafa wa

68  Choose the most appropriate Hindi word for the given word: REG[H_A'I'ID];I_[

(A) (B) el h
e o (D) TEFEEA o
(E)  Qugstion not attempted O
69  Completethe sentence given by choosing the most appropriate word: L
A persug'hu admires/loves himself/herself too much is a- =
(A) ovice (B) Numismatist 2
L& Narcissist (D) Narcisus
(E)  Question not attempted
70 Choose the word opposite in meaning to-
SUSCERTIBLE ;
(A) !)(E;hc?ahlc ABT unpredictable WO
(C) IQECC[‘:IHE (D) immune o
(E)  Qugstion not altempted -
Q

A Chouse% Most appropriate options to fill in the blanks:
———=y— ™Y friends are busy tonight. of them are \\'ﬁﬁ?\g an exam the next day, b

of them were gj|] ready to party and so far of them have confirmed.
(A) none, most, all, none All, most, some, none
(©) Some,. some, some, g|| (D) most, none, all, some
(E} Question not atlemptgd
o131 F P ik
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7

74

75

16

(he most appropriate option (o complete the sentenee:
hoOST = o -
Che —— q circular 1s:
ThedRtE. =

objectiv® (B) " round aboy

(A)
- 1,-3&'-“'3 (LD* Qmﬂlinnnl

l:: Qucstinn not attempted
l_ 5

¢ ol

prass 18 a0 alloy of :

Tin and Lead —— -
Ig: Copper and Zinc . - i i ant;Ckf:]
:p] Qucsliu-n not attempte &w nd Tin
e s e g @ - " Wus

ot ® ) <
(A) o o .

i@t ( bl gl

Which technique is suitable for the disposal of biomedical waste?

(A) Landfill (B) Recycling
() Disposal in water (D) Incineration
(E) Question not attempted

3. Faftrean arafite Froem 6t Swgw T 8-

(A) (B) gemoT

) Tt fFgem _APT  STrT SET

(E) rfaia wd

According to census 2011 which of the following districts of Rajasthan has the highest literacy rate?
(A) Churu (B) Jaipur

(C) Bikaner (D) Kota

(E) Question not attempted

2011 =t SHIET exganﬁwﬁaﬁaﬁﬁﬁmﬂﬁzﬁmﬁr@rﬁmmmm%?

(A) ¢ (B) AT
(€) s D>y e

(E) orgmft wer

Given below are two statements
Statement I: Laterite soil is found in Dungarpur,

about Laterite soil:

central and southern part of Udaipur and in Rajsamand

regions. -
Statement 113 It looks red due to presence of iron. .
In light of the above statements,choose the most appropria
(A) Statement I is true but Statement I is false. {g‘)
(C) Both Statement I and Statement 11 are true. (D)
(E)  Question not attempted .
ﬁ%ﬁﬁﬁ%;ﬁgﬁamﬁﬁm e — e
% qu@ﬁr‘ iﬁmuﬁtﬂﬂﬁ@ﬂlﬁ

FoF -1 ;AR (@) B i -3 |
prefe e (B) e 1 o7 &, g A 1 E R

%.ﬁﬁmnm%i (D) s 1 30 11 3T 378 &

te answer from the options given below.
Statement I is false but Statement II is true.
Both Statement I and Statement II are false.

(A) sFya19A

<) e | 3t 11 2 A B

(E) 7mid 9% 7 .

QL"I?
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Read the passage and answer the questions that follow by choosing the correct option. (Q. 77 to 81)

Experts in climatology and other scientists are becoming extremely concerned about the changes to our’g); 19
which are taking place. Admittedly, climate changes have occurred on our planct before. For example, there ha\-;
been several ice ages or glacial periods,
These climaig changes, however, were difTerent from the modern ones in that they occurred gradually and, 4 fa
as we know.qhmmll}-. The changes currently being monitored are said to be the result not of natural causes, by, of
human acti\w_ Furthermore, the rate of chlnngc is becoming alarmingly rapid. o))
The major problem is that the planet appears to be warming up. According to soméekperts, this warming Proces;
Kknown as gﬁ]‘:‘)\al warming. is occurting at a rate unpﬁ:ccdand in the last In.{}ﬂﬂﬁam. The implications for the
planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high 8
increase in the incidence of flooding and of droughts. These in turn could have a hf_@ ful fﬁ'cﬂt on agriculture,
It is thought ‘_t_hut this unusual warnﬁng of the Earth has been caused by so-called greenhouse gases, such as carbog
dioxide, beid@emitied into the atmosphere by car engines and modern industrial processes, for example. Such gasey
not only ad:@ the pollution of the atmosphere, but also create a greenhouse eﬁcct% which the heat of the sun is
trapped. Thisdeads to the warming up of the planet. o
Politicians dre’also concerned about climate change and there are now regular sumthits on the subject, attended by -
representatiyes from around 180 of the world’s industrialized countries. Of these symmits, the most important one
took place in Kyoto in Japan in 1997. There it was agreed that the most industrializédcountries would try to reduce*~
the volume of greenhouse gas emissions and were given targets for this reduction oﬁmissions. i
It was alsogggcs:ed that more forests should be planted to create so-called sinks to absorb greenhouse gases. At
least part o ghe problem of rapid climate change has been caused by too drastic deforestation.
Sadly, the ets are not being met. Even more sadly, global warming about clim@f® changes are often still being
regarded asscaremongering. ' g
M —
77  ldentify the correct statements (o=
a The ice ages or glacial periods are examples of climate change§'th the modern times.
b. In the past, c]iaale ch:inges occurred grad_ual!y and naturally. .
E Rising global témpratures can caus:;: more ﬂoodim;r and -dr;:mghts.
0] Greenhouse éases are give'n out by ]-:llﬂn'ls. ) . r-|
:-g The climate changes tod—ay are dissimilar to those of the past. ok
ChDDEthc most appropriate answer from the options given below: g
(A) (%, aanddonly, (B) c,dandeonly. i
(€) "Blcande only. (D) a,band c only. Q
(E) Question not attempted 2
78  The greenhouse effect is caused when
(A) CFhe gases like carbon-dioxide trap the heat of the sun in the air
(B) e green coloured glass or mesh is used to cover the plants v
(©) o * e grec:r trees form g canopy in the forest g
(D) e rtf-oﬁs covered with green plants 1o keep the building cool 0
(B uestion not attempeqd , =
o313 16 = s
i
s Lo
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T
i

82

L s e
i i “-"'"_—-'-‘"i'-!‘-..,
B e T

ng were not suggested at the Kyoto S

follow! j i
Which of thﬂwJSI " dustrialized countries would reduce emissiong
8 fore forests should be cut fo oreate the 5o calleg sinks
: Te automobile industry should roll out electric vehicles
' were set 10 reduce the volu i
d Targets W© i me of greenhouse gas emissions.
e rate of industrialization should be contained sk
€. A j " " :
cpoose 1he nost appropriate answer from the options given below: i
) - ‘-"l"-
@ © d and €0n1Y- (B) b, candeonly. l}'
© &b aq&{?bﬂ‘F- o ) b,canddonly.'O
(E) Qur:sun?j;w! attempte -
(-
The implicatim‘l§ of an unprecedented rate of are very sefious
(A) Ecological disaster . (B) Kyoto summit -~
(©) Flnodinm& draughts (D) Global warming
(E) Questionpot attempted _ vl
g o
Match List-I with List-11 \r T
List-1 (Words) 2" List-1I (Meaning)
a. l:t:f]hrccedented Forests land, which absorbs carbon-dioxide
from the air
b. h‘n;‘:lications u.  That which has pever happened before
c. Sinks III. The deliberate spreading of fi rightening rumours
d. Src_ﬁrc mongering IV. Something thatis suggested
Choose the mos{ appropriate answer from the options given below: -
(A) a-MLb2IV,c-T,d-1 ®) a-1v,b-ML el d-1
© a-Lbbil,c-TLd-TV @ a-Mb-1v,cikd-1I
(E) Queslidj{hm attempted ik
(& | o
Natral rubbee iy a polymer of )
atural ru is a polymer ol - ;
(A) NCOPrCn: fH): e e
(© Buna-N . (D) caprolactam
(E) Questian-hot attempted il
S T e 1 g € st O
'ik’,l 0 (B) {8
Fraif t ) LB Frsireiae |
© EEIT-QWtE?una-N} kﬁ
E . L
(E) maaﬁﬂ};ﬁ b~
V. - o the Indian Constitution borrowed the Directive Principles of
From which of the followiné Constitutions 1% i P
State Policy? _ (B) US Constitution
(A) Irish Constitutlm:l (D) Canadian Constitution
(C) British Cdnstitution 5 —

(E) Questidn hot attemP _ &
fraferfaa & qﬁuﬂfimﬁﬂﬂqﬁm"’ - ‘Umﬂﬁﬁmy
(D) mmr;ifauqﬁ

-

)

= ) [ P.T.O.
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84 Who was the first woman chairperson of Rajasthan Human Rights Commission?

(A)  Pratibha Patil (B) Shanta Kumari
(C) Kamla Beniwal (D) Kanta Bhatnagar

(E)  Question not attempted
TSeT wrafys S ) oect afen som 219 ot

(A) whnafes (B) e Al
(C) Fxem ST Ay Hiar e
(E) afmus
85  Which of the following is an important *ISABGOL "' producing area of Rajasthan?
(A)  Jaipur (B) Kota
(C) Barmer (D) Jodhpur

(E)  Question not attempted

Frfofian & & vowam @1 27 a1 i v weeay Sqaier geres 4 &7

(A) SR (B) T
(€) e . BTSN
(E) SHEfmws '

86  Which City of Rajasthan is known as *City of Garments™?
(A) Jaipur (B) Kota
(C) Bhilwara (D) Bikaner

(E)  Question not attempted
TSEE T |1 e IR 3 W8 (Rt 317 et & 9 @ S s 22

— ) TR (B) rr
(C) ierarer (D) s
(E) IEfEwH
87  What is the minimum number of meetings of Gram Sabha to be held in Rajasthan in a year under the
Panchayati Raj System?

Choose the most appropriate option from below:
mﬁﬂmm@gﬂ%mmaﬁﬁmﬁﬁaﬁaﬁﬁmwﬁﬂaﬁﬂwmmt
Fefdmma s s g~ - . = B =

—tA) 2 . (B) 1

(C) 4 (D) 3
(E)  Question not attempted / afta 5o

88  Inthe 12% Five Year Plan of Rajasthan which sector has been given maximum allocation?
(A) Agriculture and Rura| Development (B) Social and Community Service
(C) Industries (D) Power -
(E) Question not attempted
AT 1 1 2781 e ity i foy % sfiramm sz e iy
g::am i g (B) mﬁmammgqhmﬁm
(€) (D) whar

Q13] ? 18 [ P.1.0

17
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V

L
e

1 first called *Maru® then *Maruvara® anq | ot
. ater o 1 0
n cang? ':lo be called *Marwar’.

wils :
T mqm‘i"i“l“ option from below:
® oo the ™% Lo
'L\I Hh"ﬁulﬂi..f “3} Dh(]'lr_lul- sl
vy i O (D) Jodhpur
(© cionnot attempted "
. Questit 1 ™)
(F) _ﬁrﬂqﬂﬁﬂﬁmalmm.ﬁﬂmaﬂtmﬁ ol
e < HIATS et o1 -
éﬁﬁﬁ:ﬂﬂﬁﬂ"“ faRed
(A W i B) 3 +—4
o0 o0 - 3 O
(E) &ﬂﬂﬁagﬂ 0
" Who Was the ﬁ'T'-‘} person to use word ‘Rujasthﬂni‘ for the language of R:jilsthan?
A) George }Y!.“'“m ‘ (B) George Franklin
() Georee nh;mham Gricrson (D) George Lincon Garryson
(E) Qchﬁon'not attempted "
mmﬁﬁmm%ﬁmTHHMTwammﬂwmhmﬁmaﬁﬁﬁMT
&) m‘ﬁﬁwﬂﬂr (B) Wi SR
o e e fiae (D) el fefe A
(E) %}‘ u:

g1  Which Indian received the *Green Oscar’, Whitly Gold Award 20247 4

(A) Pumim;i?cvi Barman . (B) Tiilsi Gowda
() Amrita Devi (Dy ' Alice Garg ")

(E) Question.pot attempted 2
fi T @y I AR seteet Mes TE 2024 STH §T?

() e 2 A T
(©) Imgan i © WET o

(E) El & =

92 Whoisthe cha{f;:] an of the committee set up 1o examine the issue ofholt!‘[n £ simj.lltz.mcous elections in India?

(A) Shree Baburam Nishad (5 ShoweLaxuByL SEL

o Sheie R&inath K,D-\"ind (D) Shree V:Jaypa_l: Singh Tomar

(E) Qucstiu@ot attempted o e Cac ‘g’ \
T i o %ﬁﬁmﬁ%@ﬂﬁ*mmﬁ oft et STyt

(A) =g e (D) e R

(C) o e ol o

o : Ll than, i associated with :;Eich one of the following?

' :asthan, is ne of the followin
93 2023 Arjun ang:lcc. pivyakritt singh of R (B) Equestrian Sﬂa}v jumping g

(A) Equestriar hunter trails (D) Equestrian cf&;s country

(C) Equestrian dressage A i mé,:

(E) Question ot attempt ﬁﬂ?ﬁ'ﬁ*ﬁ. frad i 87
Wﬂm%:[angnz}ﬁm' _a» gwar i e

(A) gEaTd FLE | (D)  GEEETH W H

() gz

®) 2 2 [ P.T.O.

3| F
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94 Match List-I with List-1I

et 1w e @ Ao Aif

List-1 (Decimal value)

et -1 (FIHEE ED)
a. 4
b. S
. 9
d 8

Choose the correct answer from the options given below:

Y R Rt 32 W SO
AT a-lLb-IV,c-IL,d-1

(€ a-IV,b-1l,c-11,d-1

(E)  Question not attempted / ala'ﬂﬂam

“USB"stands for  ?

(A) Universal Sequential Bus

(C) Universal Serial Bus

(E)  Question not attempted

‘qumErE s ?

(A Fheda dedfimasw
ey Fhade difaaaw

(E) qaf@wx

b4

L
1.
HI.
V.

(B)
(D)

(B)
(D)

2\
B)
D)

List-II (Binary value)
11 (e
1000

1001

0101

0100

a-I,b-1Lec-1V,d-1
a-IV,b-1ll,c-1I,d-1

Uniform Senes Bus
Universal Series Bus

ar

e dite aw
Fhesie e aw

96  Who is the I* Indian Woman Athlete to win three Paralympic medals?

(A) Sheetal Devi
(C) Mona Agrawal
(E) Question not attempted

(B)
(D)

Kanchan Lakhani
Avani Lekhara'

= Yreifi gew Sien areft vt i aiter weeie SR R

(A) ThaaEt
(C) T 3mE

(E) gafawx

97  Porpanaikottai, Sangam age site, is located in which state?

(A) Arunachal Pradesh

(C) Kamataka

(E) Question not attempted

g, v e, fve e 3 R &
(A) SFvTEe we T

(C) =Aiew

(E) SuRawa

013]?

19

(B)

&9 T

o7 ¥ dr

(B)
(D)

e

20

Tamil Nady
Kerala

afirey |
et
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V

- er to be nomina
the first Asian play ted for Imematinnal Tennis Hal
nis Hall of Fame?

Who is paes
der (B
Lean ) Mahesh Bhupati

(&) . ghambri ®
ikl }
ECI e on not attempted Rohan Hﬂpannﬂ

B Qe i ¥ 35 R TR
g e YT W e v 7

oy s By TR v
A)

gelect the most incorrect statement about Ganeshwar excavations
TniGanswne excavations undertaken by the Department of Archacology and Museums, Rajasthan,
brought to light about a 5000 (approx.) year old culture,

Here copper was received from Harappans.

(A)

(B)
() Ganeshwar is an important site of copper culture.

D) Itwas discovered at the source of river Kantali at Neem Ka Thana.

(E) Question not attempted

e g & Tl § Hed FTEET HU FT T

(A) mﬁquﬁmmmﬁn{@rﬁﬁwsuma&gwwﬁmﬁmu

g 72} gEo § diaT wTH feRaT ST

(©) nﬁmaﬁ%iﬁmﬁ:ﬁrm@nﬁaﬂﬁma

D) e, fA et cbreft e 3 it A
(E) STaE A
; : . : jasthan?
1M Kalibangan is located in which place of Rajastizt (B) Sri Ganganagar
f:a;;i l:a?numangarh D) Sikar
aipur
(E) Question not attempted
WW%WW“WW (@) T
by g @) W
(€) =aE
s'ﬂaﬂﬁ'ﬁﬂ
®) ” ] Zamal is 34th from the left end while Ravi is 20'? from the
01 Some boys are standing in a queuc ﬁl;ithﬂﬂn- 1f Kamal stands second to the left of eshaan, then find out the
. % jght ol
right end 4 Ravi is 9" to the r!
ght end an e " the 10W? gqmgﬂlmm{mﬁmﬁqraﬂﬁﬁtﬁzﬂﬁﬁ@mé“am
total number of boys ﬁsﬂfﬁﬁﬁmﬁﬁq MW#EMW@WWWﬁﬁﬁﬁHﬁﬁF
Fﬁﬁﬁﬁﬁwﬁwﬁﬂwﬁl R '
oy, g Al T @) 66
T =aTd) . (D) 62
Ay 64
wA
(C) 60 ted / FEA 21 [ P.T.O.
(E) Question o s ph e —
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i

; o g the same relati i
102 There js certain relationship between the pair on the left side of :: Set up Onship ON fhy

side of :: then find out which option tvould replace the *7° ;:: "
LANGUAGE :PCRINCKG & l"'()&u‘l ITER : 7 o 0
::%mmﬁﬂﬂﬂ*mﬂ‘“mﬁﬁﬂ::ﬂ;m&ﬂmm“ﬂwimﬁm 'mm'm?f%“?iﬁ
TN 1 fyaey an gwm ;: oy
LANGUAGE: - PCRIYCKG :: COMPUTER & ? ™M
_AM GQORYVIT 4 (B)  GQORYSIT ™
(©)  GQMNYVIT (D) GQRRYVIT
(E)  Question not attempted / e b
) O
103 Find the numbers of triangles in the'given figure: :‘D
% 8 st & gt s !
o Q
M &8
(A) 31 (B) 17
Aer (D) 29 o
(E)  Question not attempted / Nﬁ'ﬂ e th
(Te] (K]
104 The area of the tnangle formed bytrl_l;e lines 2x+y =4, x — y + | = 0 and x-axis is . RE;
(A) 4 squnits [ (B) 5 sq units (r""\
(C) 2 sq units 58 (D) 3 sq units ™
(E) Question not attempted v
'twnﬁzr+y=4,x-y+1=0q#x—wmﬁﬁﬁaﬁ§w¥r$ﬂwﬁ; :
(A) 43y 1 (B) Ssafgard =
(C) 2aizard Eg (D) 33t gard =k
(E) srmfagy W0 ' :g

- H e
105 In the figure below, PQ is parallelto RS, ~ PQM =80°and £SMO = 25°. What is the vu;u: of ZOSM!
13 % né safa i po, rs awuﬁfg. <PQM ='80° 3 £SMO = 252 L OSM a7 T T R

YA

.~
2 2
0 0
g (8]
[ o vd
(A) S5° M ‘ 0
© 50° o {g} i .
(E) Question not ullemptcdfaﬁ?{ﬂ?lm! ©, %
ki ? . 55 | | pTd
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f nflluslﬂ . e di logi
@ . No singer is director gically fo :
,terﬂ‘-’"t . N : Y follows from the given statements.
&t gome directors are teachers
gome teachers are students

on: (1) Some singers are students

nnt‘lﬂs
(IT) Some directors are students
Neither conclusion I nor II follows (B) Both .
i . — o conclusions I and II follows
¥ conclusion II follows

£) Question not attempted .
ﬂﬁﬁqmﬂﬁﬂﬁﬂﬁmm srafen 3 S S

ﬁﬁﬁﬁﬂﬂ%%ﬂﬁmﬁmwﬁﬁh@amﬁm:ﬂ?ﬁmmm-ﬁ'ﬁmmm
£ 8 e TR e Rl

@ﬁiﬂﬁﬁmﬁl @‘I‘L -.,.
@WW%I
et (1) T T BT €
(1N Fo Frers o &
(a) 7 e 1 ST T HEAE @) oA fre 1 nadE
') e Fre 1wy oy Fa Pt i
() i w4

t Chief Secretary of Rajasthan?
‘@) Shri Rajesh Bhushan

(D) Shri Apurva Chandra

i1 Who among the following was the firs
(A) Shri K. Radhakrishnan
(C) Shri V. Narayan '
(E) Question not attempted

: aRE A
it i & Trerear 3 HH 1 @) AT

S o &, qarEe o) I
(Cy  oft <Y, AT
(E)  swyafca wa
im League?
Ed b usllm
Iy When was * Direct Action Day celebrat @®) 20 August, 1947

(A) 16 August, 1947
(C) 15 August, 1945

(E)  Question not ﬂﬁemPWd » el ﬂ“ﬂmm aTEd, 1947

ety wfi gr < 2 :DB];, N .

(A) 163w, 1947 .

(C) 15 3mrEd, 1947 - [P.T.O
(E) ﬁaﬁa b )

[ha‘%

22 —



awrr

110

112

HI WIHCH Cleguny v w e

Rajosthan? 1

ijasthon o\ o stk v

(A) Tarm O (B) Vyw h
(D)  Shishu L0

. : o
{(—} Kishore l‘J

(E) DuculimE;s: attempted _ o
-24 3 qrarear 3 yraptfirer; fopw Avft & AT 120 o

mwmtrmaﬁznzz 2
Ay mm _Apy”" = 5ol
©) famin (D) fmy
(B orgfn -
D h
1 ZB : -
(Zettabytg) js equal to: O
1 ZB (Zettabyt L e
(A) 1024 KBy Ty v ~m@f 1024GB ;'ﬂ:"
(C) 1024 EB (D) 1024 ZB =i
(E) Qu:stio‘rlr{wt attempted / 3@ 94
. R
Which of the ltifnwing shortcut kéy of PowerPoint that helps to present the slides from the beginning?
s a.néqmmmaﬁmmkeﬂmmﬁmmwﬁ@ma
(A) F5 g (B) F4 .
(C) FI F7 -
- e ™)
(E)  Question not attempted / Gﬂﬂﬁ.ﬂ g 1
. H r .
At what time btlgecn 7 and 8 O'clock will the hands of a clock be in the smi%line but not together?
. \D 3 ()
(A) 20 min pfl-s'I 7 (B) 7ﬁ minpast7 ‘O
(C) Smi = 5 -
min pagr{ (D) 52 miti past 7 =i
(E)  Question'fibt attempted v H C:J
qgt i 7 Wgﬁ*mmﬁﬂﬁmmﬂwﬂmlmﬁérﬁﬁmmmhmm
A) 7999
(A) gﬁ?zﬁ : 9), 77 TR ?_. fre o
© 7% e ® 7w s ﬁﬂzﬂd;l
(E) ¥uRaya ' 0
T % R e b ':3
by (B) 3w &
(C) I i o
(D) F=9:+70 r<4

Qi3] F 24
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the *Kacchi Ghodi® dance associated?

!l 14 with w hich occasion 1s o bl
(Choose the most :?;‘!ﬂ"[‘ B Bhariies -
W Ted 0 (D) Holi ) <
) Navratra ol 0
) Quc-ahl.'\n nol-altcmi““d !
ﬁﬂﬁﬁﬁﬁ‘ﬂ'ﬁﬁ*ﬁm@ 2
(A) = @B) faw
© T o Dy~ et
(E) IERE !ﬁl% ;
11§ The life history éﬂ the saints which is available in poetry form in Rajasthan:ganguage i
o -l
(A} Vachnika (N (B) Dawavait o
(C) Parchi ™ (D) Vaat ﬂ
(E)  Question not attempted |
waT T e e T T ed 79§ I9eed &, PR e _
(A) =S a (B) IEREd al
AeT W= W (D) = O
(E) Sﬁﬂﬂ'rl’!lﬂ"" 0
" o
116 Where do womenrwear jewellery named ‘Borla’? ™M
(A) Hand . (B) Head |
Iy, i - (D) Nose
(E) Que-shon nﬁ"attempted ' -
anarm:m‘-mnﬁsmz tm?ﬂ%" \ (o))
@A) ' v g B fin e
© == i : @) =
(E) raiE v ot
Lpn
117 World's first cloned buffalo was born in which country?
) usa o (B) Russia =
(C) India 0 (D) China o
(E) Question ngLattempted O
fau & geeht &1 fom 2§ g am ro-l
(A) gwy i —By - N
(C) W& D) = i
(E) Srdfta 9d

wig 2
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118  When is the National Sports day cclebrated in India?

(A) 25 August (B) 29 August
(D) 23 August

(C) 21 August
(E)  Question not attempled
Va3 et @ R @ AT S
(A) 2534 /{B') 29 AN
(C) 213m= (D) 23 3m4
(E) 3af@Euw
119 Who among the following is the author of the book titled *Why Bharat Matters'?
(A)  Nirmala Sitharaman (B) Amit Shah
(C)  Rajnath Singh (D) S. Jaishankar

(E)  Question not attempted

Frfafien & & a3 a3 e e A THTF & SETF 57

A&y Fda dtarogor (B) i ome
(C) usAry far (D) wH.vEFE
(E) sguf@ys  °

120 CH;COOC,Hs+H,0 —> CH3COOH + C,H,OH
In the above reaction, which of the compound is the “auto catalyst™?
S ¢ St & @ ar i < she wifer & et 22
(A) CH;COOH (B) C,H;OH

(C) CH;COOC;H; (D) H,0 l '
(E)  Question not attempted / Gﬂﬂﬂﬂ' e 9

WS g
121 Zn+CuSO; —» ZnSO, +Cu
: ’ "ﬂ'\qh\C a 1!1’513

Which is being oxidised in the above reaction?

F9T 3 ARl F FN st o wr &
(A) Cu - ®) Cu504

(E)  Question not attempted / SrgafE 95

122 Some metals sink in water, as

(A) their surface area is less than water, (B) their mass is more than water.

(C)  their density is more than water. (D) their density is less than water

(E) Question not attempted

50 Enﬁr{ EGR: Sl STt g, i :- »

(A) 7T TH1T St s & 7 BT 2 (B) I 74 et & tfires iy &

(C) 37 e 17 @ 37fres ey & (D) 3T O ot F F o 2 ]

(E) Fqf@wz
013 1 ? 26 [ PT.O. :
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2 Tr—

{ Constitution of India, deals with the duties of Chie
leo

| I Minister of State?
ich Arti€ ced (B) Article 165
\ £ Ty - .
p ‘n I,\mi!" i D) Atticlel 67
v pticie 19<
() ‘_",mcgiun not attempted v
@
LF} LL

Wﬁﬁqmm@zm%g@ﬁaﬁ%ﬁaﬁmaﬁ e

:ﬂ@z 162 D) =87 147

. ™
a) ﬂgﬁﬂﬂ L ™
t - i
{ the incorrect statcment about:- The recommendations of the Ashok Mehta Committee on Panchayari
Fin
P ;
Raj art:)

™
| (Reservation of seats for SCs and STs on the basis of theiffopulation
A) (RS : s
{BW ‘Dfficial participation of political
By

parties at all levels of P:z‘i&
v ﬁ“’- three tier system of Panchayati Raj should be l'v.tplzu:{e‘éfI
i

c 1by a two tier system.
p) (Ifthe Panchayati Institutions are superseded, elections
i

mUSt be held within one year.
() 'Question not attempted )

et o v e S i 1 et e i e e e
(A) mmﬁmﬁ%mmﬁmmmﬂm%wm

(B) vt mnmﬁﬁmﬁmaﬁﬁmmmwﬁaﬁm
M'fﬁaﬂaﬁmﬁw%mmﬁmﬂqmwm

hayati elections

W
(D) Lﬁwm@ﬂmﬁmmé,ﬁﬁaﬁ%ﬁtwmmmﬁm
E) "Safa s !
b
™M G::l*
5 ffafea i s a Rem sz 2
AT T (B) e
© Hfa ABr aﬁ:;
®) Sraf s | B
S P ¥
% s ‘3t % - o I s
6 (A) :—fpzm T (B) &g,
& 2D} i)
€) ‘wem
€) St wa
4 ™ .
1 5 i e < Frdrren r g, e e & (8) WAl e
o iiqi" Sk 2 (o) gy
(E)  rmiawa 2
" et o «or s T AR 87 @
©) Tgam
(E) Syt 94 27
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129 Frafafs § g ad g 7= 2
o el b fu ”"’,UJ’
c. ety . d. T :Et{ o 12.["1
e. T@EA el
5% g e i 14w e e g o
(A) cde (B) b,d,e St
(C) a.cd b,c,d
(E) ygmfa ww ﬁ
130 ﬁ%ﬁﬁfﬁrﬁgcndum'*mwwm%-
(A) FgEw (B) qFN
(€) qfew byt afte
(E) FmfEws
131 Frafafas § = @ awf o )
AXT T (B) uft=mux
(C) w=+gx (D) fr=Ta
(E) Siqufaus
132 373 ¥ fafea st &-
(A) 3 BT a1
© = (D) I
(E) gafwwx
133 T % ITFR H T 9H I F e v e -
(A) Fand (B) i
e Fae (D) Fag
(E) i@y
134wt -1 0 et -1 | gAfera shifa
Tl -1 (T Ce T (3.
a. @ - GHI OF FET —1.  WTeftE &
b. wisaEw . =T afem s
c. I HWE M. @9 IR @
d.  SEITEE IV. 399 S a1 &
Sl a——— T
A1 feq o et & waifuss svges swcgf ;|
(A) a-HLb-Ic-I,d-IV (B) a-ILb-Lc-NLd-IV
(C) a-Lb-IV,c-ILd-1I B a-M,b-1I,¢-1,d-IV
(E) sqaf@wg S
135 ‘33T TG qerat &1 qet 31 -
(A) Tl ate s (B) ST ERT
1Oy FE FETT T (D) 3 firemr
(E) uf@ud
o313 28 [ P.T.O.

27



{18 (he poeee

e '"II':“”“"" 10 gel (e Wages for their Work?
W ook 1) Mony,
y theee? (1)
"'f aweek

n I‘nrmiuhl
(¢ on not attempted

i ::‘:;uft‘(ﬂ:t Y 3w A (g “fw " hl gy ey L
,,41;:11 yupn ) 0 ey

"f] & T D) g fiy

o o

B ¥

the largest Solar Park of Indig which
Name . |
poase the most appropriate option
Choos
(A)  Bhadla Solar Park

I8 Situnteq i, anmzllmn.
from below:

(B) Mandsgy, Sol
- i Solar Park : " ek
¢) Charanka So D) payy d
:ti‘} Question not attemped 41 Solar par
m%mﬁthmm&mmwshﬂﬁmnﬁﬁwﬂ?
et 38 e e <y
¥ WSS ST (B) ek Hrerr ur:
(€) T T e D) YR e e
(E) rFafw war
¥ Rajasthan Small Industrieg Curporutmn was established in the year
Wﬁlﬁﬁ'ﬁ RUINE )
/m‘} 1961 (B) 1967
© 1947 | (D) 195
() " Question noy attempted / STl oy
3 Gandhi Sagar dam 1S built over Which of the following riverg?
(A) Chamba) (B)  Manas
©)  Narmagg (D)  Sabarmay
€) " Question not attempted
Rlte ) 1 ﬂﬁﬁqﬂmaﬁmﬂm%‘?
B) #AFg
©) =aiy (D)  HraTwHt
®) Sty
14 The rivers Griginating from the Amarkantak range, flowing in all directions, is an example of which of the
fnlluwing type of drainage patterns?
( A) Dei dritic (B) Radial
© Trellis (D)  Centripetal
©)  Queg t attempted
el qéau;ur;[oﬁa emp iz 100 fwwﬁmﬁrﬁqﬁﬁnﬂﬂﬁwm%m STYATE 4 Wiy
N Reor 2
" (B) afim
o TR (D) st
DI U —.
s | ? 29 [PT.0,
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141 Which of the following translators converts high level language into low level language at once?

(A) Interpreter (3) Controler
(C)  Assembler (D) Compiler
(E)  Question not attempted -
ﬁ%ﬁ#ﬁm%mmwﬁmmmﬁmﬁmmﬁmﬁa A 2
; L5 O
(A) ¥t 0 () e w0
(C) ayfmen Lo Dy e 4
() orwfaws . &
‘ > {7
142 HTTP stand for ' r}. 1
(A)  Hyper Text Tmnsmission Protocol (B) Hyper Text Transfer Protocol
(C)  Higher Text Transfer Protocol (D) Hyper Text Technical Protocol
; v
(E) Question not nttcmp_tcd o
wWHAR Tt T 0
(A) TAW émzmﬁvnﬂﬁﬁa faﬁ—* BTG 22 A WIerhiet-
(E) waftaws b o ™M
— . S
143 Where was Asia’s largest civil aviation event, ‘Wings India 2024" held?
(A) Mumbai ” (B) Hyderabad -
(C) Kochi T : (D) Lucknow an
(E)  Question not attempfed g
|} = i
o o i gt e S e, e e 2024° et s v et
(A) Tt S - By ¥R &
() et i v
4 ' (D) wETE gt
(E) i@
144 Choose the most appropriﬁ_é option to fill in the blank: E::
# Y
By tomorrow afternoon, the,plane carrying medicines for war victims \O ff for Ukraine
(A) will have taken ‘D ' {BJh Iak;:s e | e -
" [ | -{
(C)  will take o . (D) will be taking ;:)
(E)  Question not attemptad ' N
v i
145  Choose the most appropriate passive form of thé giyen sentence:
People must not Jeave bicycles in the hall, o
(A) The biC}fCIEs are HOEIO-‘EG left in the hall hy the PC'DPI'B (B )
(B)  The hall must po h? : _,:" any bicycles of people, 0
(©) Nobody should lr.'a\;e.i:icycles in the ha|), LE:
(D) Bicycles must noy beleft in the hall, :'D
€) Question not anem;:_t_* m
v
31T 3 [PTO.
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TR

orinte option 10 (ill in the blanks:

"““d nll l- 1 i'I.C Hiiilll E-:-ﬂd b-":"' and urame
s (he windy morning but they dead  hoat and w st G
|"I a8 __..--"""f.’ = "\1 i _-__-__-"*--..tml

" el - Ll‘ i 1

o0t ----—"‘r - (B) a,aathe :

| Lo ,the y

\) ‘h""‘"‘] (D) the,a,x,a

l the

M
: Oucﬂn‘-n not al{cnllﬂld
l -
. i siect after refraction by eyc-lens converges at a int i

e fight from & distant ob) y cy ges at a point in front of the retina, this
i _orc}fdcfcc: is called : : . |

N P,ﬂbl.-upin (B) astigmatism

myopia or near sightedness (D) hypermetropia or far sightedness

()
Question not attempted

i;ﬁﬂﬂyﬁmmhﬁﬁﬁm%mﬁﬁm%mﬁ@ﬁgjmmﬁmﬂmﬁmta&mm%
i‘mﬁﬁmmt: '

) m}zﬁh‘ (B) .x.:-

o e e g NG e

B AR RA

Wl Anobject is placed at 30cm in front of a concave mirror of radius of curvature 15cm. The image formed will

be -

(A) magnified, virtual and erect
(C) magnified, real and inverted
(E) Question not attempted

T lsﬁmmmﬁwm*mmﬁtﬂiﬁﬂwmaﬁﬁmmm‘

(A)  srafida ), smm s ET (B) atg%anm,mmﬁmaﬂrm
(€) waida (argn), areatas 3T I (D) Syer, arefad T I

(E) wrqufe 99

19 India's first solar observatory has begun its journ¢

(B) of same size that of object, real and inverted.
(D) diminished, real and inverted

y to the destination of Sun-Earth L1 point on-

01, 20
(A) November 07, 2023 . {B}_ December 23
September 02, 2023

(C) January 25, 2024 )
(E)  Question not attempted . figLI
A " e 1¢

i ﬁﬂiﬁﬁtma‘ﬁ 'Tzﬂ:' (B) fedaT 01,2023

) FEE07, 2023 BT faretarc 02, 2023

(€)  wmal) 25, 2024 ie

(E)  argefea wa

! ; sed to launch the Chandrayaan-3 mi:;s:i -
] ' i i unch vehicle of ISRO usct | 9
50 Which one is the upcrntmnal h;:g,;n%: L = R gy

?m-:iﬁﬁﬁﬁﬁiﬂm () GSLV
(A) GSLV MK3 /‘m’ GSLY MK2

(©) LVM3-M4 4
(E) Question not attempted et

Q'IJ‘?
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